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THE ELAST STRESS IN TWO DIMENSIONAL PROBLEM
TITLE = » HEIMEN DANSEI % # SHOKYO TO CG NO HIKAK{J% NELEM =4 NJOINT =5

NO, JOINT X(mm) Y(mm) X(mm) Y({mm) X{mm)
1 1 3 2 0.0 100,00 50,00 50,00 100,00
2 1 4 3 0.0 100,00 0.0 0.0 50,00
3 4 5 3 0.0 0,0 100,00 0.0 50,00
4 2 3 5 100,0 100,0 50,00 50,00 100,00
NBCDF =2 NBCDU = 4 BOUNDARY CONDITION
Y(mm) THICK DISPLACEMENT
100,00 20,00 JOINT U{mm)
50,00 20,00 1 4 0.0
50,00 20,00 2 9 0.0
0,0 20,00 3 5 0.0
4 10 0.0
FORCE
JOINT F(kg)
1 6 5000,000
2 7 5000, 000
YOUNG POISSN
0.210E 05 0.300E 00
B9 MO R TR R B9 SE R
(a)
0.3115E 06 -0,1500E 06 -0,3115E 06 0.1500E 06 -0,7500E 05
0,5769E 04 0.3115E 06 0,.1500F 06 ~0.3115E 06 ~0,5769E 04
0.7500F 05 0,7846E 06 0.0 -0,3115E 06 - 0,1500F 06
0,1246E 07 -0,1500E 08 -0,3115E 06 0.3115E 06 0.1500E 06
0.3115E 06 0.7500E 05 ~0,5769E 04 0,.5769E 04 -0,7500F 05
0.3115E 06 0,1500E 06 -0,3115E 06 ~-0.1500F 06 0.3115E 06
~0,1500E 08 -0.3115E 06 -0,7500F 05 —-0.5769F 04 0.5769E 04
0.7500E 05 0,.3115E 06 -~ 0,1500E 06 - 0,3115E 06 0,1500E 06
0,3115E 06 0.1500E 06 -0,3115E 06 0,7500E 05 0.5769E 04
-0,5769E 04 - 0,7500E 05 0.4615E 06
€:))
1 1 1 6 1 3 1 8 1 2
1 7. 6 6 6 3 6 8 6 2
6 7 3 3 3 8 3 2 3 7
3 8 8 2 8 7 2 2 2 7
7 7 1 4 1 9 6 4 6 9
4 4 4 9 4 3 4 8 9 9
9 3 9 8 4 5 4 10 9 5
9 10 5 5 5 10 5 3 5 8
10 10 10 3 10 8 2 5 2 10
7 5 7 10 3




10 SOETH O e T S B BESERE

(a)
0.3115E 06 ~-0,1500F 06 —-0,3115E 06 0.1500E 06 ~0,7500E 05
0,5769E 04 0.3115E 06 0.1500E 06 - 0,3115E 06 ~-0.5769E 04
0.7500E 05 0.7846E 06 -0,3115E 06 - 0.1500E 06 0.1246E 07

- 0,1500E 06 ~-0,3113E 06 0,1500EF 06 0.1500E 06 © 0.3115E 06

0,4615E 06

43}
1 1 1 6 1 3 1 8 1 2
1 7 6 6 6 3 6 8 6 2
6 7 3 3 3 2 3 7 8 8
8 2 8 7 2 2 2 7 7 7
3 3

x1 % 2B BB R T R R

0,0 0.0 - 0,0 0.0 0,0
0,5000F 04 0.5000E 04 0.0 0,0 0.0

22 E 51 5 B A & B

NO, JOINT SIGMA-X SIGMA-Y SIGMA-Z TAU-XY SIGMA-1  SIGMA-2

1 1 3 2 -0,35 5,19 -~ 0,0 T 0,00 5,19 -0,35
2 1 4 3 0,54 5,00 0.0 . 0,19 5,01 0.54
3 4 5 3 1.44 4,81 0,0 -0,00 4,81 1,44
4 2 3 5 0.54 5,00 0,0 -0,19 5,01 0,54
JOINT UX(mm) UY(mm) X(mm) Y(mm)
1 0,4550E-~¢02 0.2303E-01 0,0 100,02
2 -0,4550E-02 0,2303E-01 100.00 100,02
3 -0,8611E-09 0,1042E-01 50,00 50,01
4 0.0 0.0 0.0 0.0
5 0,0 0,0 100,00 0.0

« 7 .
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INTEGER » 2 JBCF JBCU

COMMON NELEM,NJOINT ,NBCDF,NBCDU,M,N,NMAXU,NUNIT,TITLE(10),FBCID(20).

UBCD(50),PHYSIC(2,5),DISP(800),J BCF(20),J BCU(50)

MAIN PROGRAM

CALL LOAD(“HEIMO1’)

CALL JODATA

CALL LOAD(*HEIMO2")

CALL SFKMAT

CALL LOAD(*HEIMO3"

CALL CGM

CALL LOAD(*HEIMO4?)

CALL STRPRI

STOP

END

SUBROUTINE IODATA

INTEGER * 2 JBCF,JBCU,JELEM R
COMMON NELEM, NJOINT, NBCDF,NBCDU,M,N,NMAXU,NUNIT, TITLE(10),
FBCD(20),UBCD(50),PHYSIC(2,5),DISP(800) ,JBCEF(20) ,JBCU (50
DIMENSION XY (2,400), THICK (800),JELEMM4,800)

REWIND 1

REWIND 2

REWIND 3

KKK =0

NMAXU =600

NBCDF = ¢

NBCDU =0

READ(5,1001) (TITLE),i=1,10)

READ(5,1002) NIOINT,NELEM,NBCF,NBCU,NPHYS
DO 11 J=1,NELEM

READ(s,1003) TH,LB,JI,JI,JK,XI,YI,XJ,YJ,XK,YK
IF(LB.-EO.O) LB=1

JELEMM1,I) =11

JELEMM(2,)=1J

JELEMM((3,]) =JK

JELEMM(4,]) =LB

XY2,JD =YI

XY, =XJ

XYQ,IDH=YI

XY2,JK)=YK

THICK (J) = TH

CONTINUE

READ(5,1002) JA,IB,LB,JI,1}

IFJA-EO-99999) GO TO 12 I-

WRITE(6,2000) KKK,JA,JB,L.B
STOP 80601

IB=o

[F(NBCF.EQ.O) GO TO 15
PO 14 J=1,NBCF
READ(5,1004) JA, WX, WY
IF(WX.EQ.0.0) GO TO 13
JB=JB+1

JBCFJB)=JA
FBCDUB)=WX
IF(WY.EQ.0.0) GO TO 14
JB=]IB+1

JBCFWB) =JA + NJOINT
FBCDWB)=WY
CONTINUE

NBCDF =JA

[-013¢

028¢




IB=0

15 DO 17 1=1,NBCU
READ(5,1004) JA,WX,WY
IF(WX.GE.99.0) GO TO 16
IB=JB+1
JBCUUJB)=JA
UBCDUB) = WX

16 IF(WY.GE.99.0) GO TO 17
JB=JB+1
IBCUUB) =JA +NJOINT
UBCDUJB) = WY

17  CONTINUE
NBCDU =JB
READ(5,1005) ((PHYSIC(JA,IB),JA =1,2),]B=1,NPHYS)

M =NJOINT # 2 -
WRITE(6,2001) (TITLE(),J =1,10),NELEM,NJOINT,NBCDF,NBCDU
DO 22 J=1,NELEM

J1=JELEMM(1,J)

J] = JELEMM(2,])

JK = JELEMM(3,)

Xl =XY(1,]D)

YI=XY(2,JD

XJ = XY (1,11

Y] =XY(2,1])

XK = XY (1,1K)

YK = XY (2,IK)

TH = THICK(J) ,
WRITE (6,2002) J,J1,1J,]K,X1,YI,XJ, YJ, XK,YK,TH

IFXI»« (YI-YE) +XT = (YK-YD+XK» (YI-YI)) 21,21,22 I-078¢0
21  WRITE(6,2000) I,JI1,J7,JK

KKK =1
22 CONTINUEj]

WRITE(6,2003)

DO 23 J=1,NBCDU
23 WRITE(6,2004) J,JBCUJ),UBCD(J)}

IF(NBCDF.EQ.0) GO TOz25
WRITE(6,2005)
DO 24 J=1,NBCDF

24 WRITE(6,2004) J,IJBCF(J),FBCD()

26 WRITE(6.2006) ((PHYSIC(JA,IB),JA=1,2),IB=1,NFHYS)
IF(KKK+EQ.1) STOP 8002 S
WRITE(1) ((XY(JA,IB),JA=1,2),]B=1,NJOINT),(THICKJ A),JA=1,NELEM,
) (JELEMMUA,IB),JA=1,4),JB=1,NELEM)
RETURN

1001  FORMAT(10A4)

1002 FORMAT(515)

1003 FORMAT(F6.1,11,4X,313,3(1X,2F7+2))
1004 FORMAT(I5,2F10-3)

01005 FORMAT(2F10+3)

2000 FORMAT(1X,‘ERROR*’,4151) , .

2001 FORMAT(1H1,‘THE ELAST STRESS IN TWO DIMENSIONAL PROBLEM’/1X,
‘TITLE*’,10A4,5X,*NELEM=*,I3,*NJOINT = *,13,‘NBCDF = *I2,2X,
‘NBCDU = *,12//5X,‘NO,*,18X,‘JOINT?,3(6X,*X(mm) Y(mm)*),*THICK”)
2002 FORMAT(5X,I3,3X,315,3(3X,2F8+2),F10-2) : '
2003 FORMAT(1H1,“BOUNDARY CONDISION’/1X, ‘DISPLECEMENT’/10X,

DS et

1 ‘JOINT U(mm)*)
2004 FORMAT(5X,215,F103)
2005 FORMAT(//1X,‘FORCE’/10X,‘JOINT Fekg)”)




O

O

O

2006

o

0

11
20

21

FORMAT(//10X,*YOUNG POISSN?/5X,5(2E10+3/5X))
END

SUBROUTINE SFKMAT )

INTEGER =2 IBCF,IBCU,JOINT,JELEMM .
COMMON NELEM,NJOINT,NBCDF,NBCDU,M,N,NMAXU NUNIT,TITLE10),
FBCD(20),UBCD(50),PHYSIC(2,5) ,DISP(800) ,J BCF (20) ,JBCU(50)

DIMENSION XV (2,400) , THICK (800),C(3,3) , AN(3,6),CAN(2,6),5K (6,6),
P(800),FK (600) ,JFS¢6) ,JOINT(600,2) ,JELEMM (4,800)

REWIND 1

REWIND 3

DO5J=1,M

P =0+0

DO ¢ I =1,NBCDF

JA=IBCF()

P A) =FBCD()

II=90

NUNIT =0

READCD (XYUA,IB),JA=1,2),IB=1,NJOIND, (THICK(JA),JA=1,NELEM),
(JELEMMJA,IB),JA=1,4),IB=1,NELEM)

N=¢
NJB=1

DO11 K=1,2
JOINTW,K)y=0

IFJI.GE.NELEM) GO TO 40
II=1I+1

JI=JELEMMQ@,ID

11 =JELEMMC(2,ID
JK=JELEMM,ID
JB=JELEMM(,ID
XI=XY(1,ID

Yi=XY(2,iD

XJ=XY(,ID

YI=XY(,ID

XK =XY(1,IK)

YK =XY(,IK)

TH= THICK{ID

YOUNG =PHYSIC(1,IB)
POISS = PHYSIC(2,IB)
AREA = (XI# (YT -YK) + XI %« (YK - YD) + XK % (YI~ YI))/2-0

WA =YOUNG % T11/(1+0 - POISS % 2)
DOz217J=1,3

DO21 K=1,3

CU,K) =00

IFJ.EQ.K) CU,K)=WA
CONTINUE

C(1,2) = WA * POISS
C(2,1) = WA = POISS
C(3,3)=WA * (1.0 POISS) /2.0

DO 22 J=1,3

DO22 K=1,6
AN{J,K)=0,0
WA=2-0% AREA
AN, D = (YI-YK)/WA
AN(,3) = (YK-YD)/WA
AN(,5) = (YI-YI)/WA
AN(©2,2) = XK-XD/WA
AN@2,0 = (XI-XK)/WA
AN(2,6) = (XT-XD /WA

« 10



@)

23

24

25
26

32
33

35

37

40

41

DO 23 I=1,6,2
K=J+1
ANG,K) = ANGD

DO24 J=1,3
DO 24 K=1,6
CAN(I,K) = 040
DO 24 L4=1

CAN(W,K) = CAN(J,K) + CT,L) * AN(L,K)

DO 26 T=1,6
PO 26 K=1,6
SK(J)K)=0.0
DO 25 L=1,3

SK{J,K)=SK{J,K) + AN(LL,]H) » CANU.,K»

SK(I,K) = SK(J,K) * AREA

JES(1y =171
JES(2) =JI+ NJOINT
JES(3) =11
JFS(4) =JJ +NJOINT
JES(5) =JK
JES(6) =JK + NJOINT

DO 37 J=1,6

JA =IFS(D

DO 37 K=1,6

IFJ.GT-K) GO TO 37

IB = JFS(K)

WA =SK{J,K)

IF(NIB-LE-1) GO TO 36
NTA=NIB-30

[F(NJA.LE-O) NJA=1

DO 35 L=NJA,NJB

JL =JOINT(L,1

IM=TOINT (L,2)
r(JL+IM-JA~TB) 35,32,35 ,
[F(ABS(JL - IM) ~IABS(JA -TB)) 35
FK(L) = FK() + WA

GO TO 37

CONTINU

N=N+1

JOINT(N,1 =JA

JOINT(N,2)=11B

FK(N)=WA

CONTINUE

NJB=N

IF(NTRB.LT-NMAXU -20) GO TO 20

NN=0 , o
WRITE(6,6000) (FK),J =1;N)

WRITE(6,6001) ((JOINTCTAIB),iB=1,2),JA=1,N}

DO 43 T=1,N
IL=JOINTU,D
IM= JOINT(J,Q)

»33,35

[W(ABS(WA)-L1:1.0E~9) GO TO 43

DO 42 K =1,NBCDU

JA.:]BCU(Q GO TO 41
{FALNE.JA) 4
IFAL.NE.JM) PAOM)=PUM) - WA=
GO TO 43

[FOM.NE.JA) GO TO 42

UBCD(XK)

« 11



IFJL.NE.-JM) PUL)=PUJL) - WA*UBCD(K)
GO TO 43
42 CONTINUE

NN=NN+1
JOINT(NN, D) = JL
JOINT(NN,2) = IM
FEK(NN) =WA
43 CONTINUE
WRITE(6,6000) (FK(J)»,}=1,NN)
WRITE(6,6001) ((JOINTWUJA,IB),IB=1,2),JA=1,N)

NUNIT=NUNIT +1
WRITE(3) NN,(FK(JA),JA=1,NN),((JOINT(JA,IB),JA=1,NN),JB=1,2)

IF{I.-LT-NELEM) GO TO 10

DO 46 J =1,NBCDU
JA =JBCUD
46 PUJA)=0,0

DO 47 1=1,M
WA =P
IF(ABS(WA).LT:1-0E -9 WA =0+0
47 DISP()=WA

WRITE(6,6002) (DISP(1),I=1,M)
END FILE 3
RETURN ‘

6000 FORMAT (5X,10E12¢4)

5001 FORMAT(10(4X,214))

5002 FORMAT(10E12+4)
END
SUBROUTINE CGM
INTEGER » 2 JBCF,JBCU,JOINT
COMMON NELEM,NJOINT NBCDF,NBCDU,M, N,NMAXU,NUNIT,TITLEQ10),

1 FBCD(20),UBCD(50),PHYSIC(2,5), DISP(800),J BCF (20),JBCU(50)

DIMEMENSION R(800),5(800), ASK (800),FK (600),JOINT (600,2)
DCUBLE PRECISION R,S,ASK SR,ASS,ASR,DELTA,ALPHA,BETA,WVV,W,DIS

DO1J=1,M
R(J) =DBLE(DISPU))
SH =R
ASK(J) =00

1 DISPU)=0-0
NA=10
NI=1
-MN=M - NBCDU
ERROR=1+0E-5

= % [TERATION = »
5 REWIND 8

W=0-0

SR=0+0

ASS=0.0

ASR =0ep

DELTA =00

DO 10 K=1,NUNIT
FEAD(3) N,(FK(JA) JA=1,N),(JOINT{UA,IB),JA=1,N),IB= 1,2)
DO 10J=1,N
JI= IOINT(J,D
JK=JOINT{,2)
ASK{I) = ASK(JJ) + DBLE(FK(1)) * SUJK)
IFJI.EQ-JK) GO TO 10
ASKJK) = ASKW(JK) + DBLE(FKI)) #SUD)
16 CONTINUE

an

»12.



@]

20

30
35

1000

DO 151=1,M
SR=SR+S() =R
ASS=ASS + ASK() * S
ALPHA =SR/ASS

DO 20J=1,M

DIS = DBLE(DISP{))

W=W+DISPx »2

R =RJ) -ASKJ)y* ALPHA
WVV=DIS+50U) =« ALPHA
DELTA=DELTA+ (DIS-WVV) * %2
ASR=ASR + ASK() * R
DISP=(J)=WVV

BETA = ASR/ASS

DO 25 J = 1 9M

SH=RIH -SUJ)=BETA
ASK@@) =0-0
IF(W+LT+1:0E-10) W=1+0
W=DSQRT(DELTA/W)
IFCW.LT-DBLE(ERROR)) GO TO 35
[F(NI.LT-NA) GO TO 3¢
NA=NA+10
WRITE(6,1000) NI, W
NI=NI+1

IF(NI.LT-MN) GO TO 5
CONTINUE

RETURN

g%%MAT(lx, ‘ITERATIVE CYCLE NUMBER?,I5,5X,“ERROR=",E10:5)

SUBROUTINE STRPRI

INTEGER = 2 JBCF,JBCU,JELEMM

COMMON NELEM,NJOINT,NBCDF,NBCDU,M,N,NMAXU,NUNIT,TITLE(10),
FBCD(20) ,UBCD(50) ,PHYSIC(2,5) ,DISP(800) ,JBCF (20),JBCU(50)

DIMENSION XY(2,400), THICK(800),C(3,3),AN(3,6) ,CAN(3,6) , WV A(6),
STRESS(4),S TRAIN(),JELEMM(4,800)

REWIND 1 :

READ(D) ((XY({JA,IB),JA=1,2),JB=1,NJOINT), (tHICKJ A),JA=1,NELEM),
((J ELEMM{JA,IB),JA=1,4),JB=1,NELEM)

WRITE(6,2001) (TITLE(),7=1,10)

DO 2 I=1,NBCDU

JA =JBCU )

DISP(JA) = UBCD()

DO 20 11=1,NELEM
JI=JELEMM(1,ID

17 =JELEMM(2,ID)
JK=JELEMM(3,ID)
IB=JELEMM(4,ID
XI=XY(1,ID
YI=XY(,ID

XJ = XY(I ’IJ)
YI=XY(,ID
XK=XYQ1,IK)
YK=XY(2,IK)

TH = THICK (D)
YOUNG = PHYSIC(1,IB)
POISS =PHYSIC(2,IB)
AREA= (XI* (YJ-YK) + XJ « (YK-YD) + XK # (Y] - Y]))/2+0

AA=1.0-POISS :
WA=YOUNG=* TH/(1-0~ POISS+ 2)
DO 11 I= 1,3
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